Class:9th

Test:Physics

Attempt questions

1 A body is in equilibrium when its
a. acceleration is zero b. Speed is uniform
c.Acceleration is uniform

d. Speed and acceleration are uniform

2 The turning effect of a force is called:
a.Momentum b.Torque

c. Pressure d. Work

3 The number of vectors that can be added by
head to tail rule is:
A 2,

c. any number

b 3
d. 4

‘A point where an applied force causes the
system to move without rotation is called:
a. Center of gravity b. Center of mass
d. Center of body d. Center of axis

> Two equal but unlike parallel forces having
different line of action produce:
a. Torque b. A couple

c. Equilibrium d. Neutral equilBritim

6 The center of gravity of a uniferm’selid
cylinder is at:
a.Middle point on its axis.
b. Center of the cylindek
c. The point of intersection of diagonals.

d.Centre of mass.
7 Torque is equal to:

a.‘[ =—
FL

C.t=FL

® The symbol of sigma is
a.M b.*®

c.y d.=
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